A STORY OF UNITS Lesson 26 Exit Ticket m
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1. Estimate. Then, divide using the standard algorithm and check.
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2. We learned today that division expressions that have the same quotient and remainders are not
necessarily equal to each other. Explain how this is possible.

Suse ZRS as an example .

Both 176 and 1957 have ZR5 as answers, But, whan we
divide 3s decimals, this is what we get...
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.. this shows +he angwers are nst equal +» eadh other

Lesson 26: Divide decimal dividends by two-digit divisors, estimating quotients,
EUREKA reasoning about the placement of the decimal point, and making 358
MATH" connections to a written method.
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